Assignment 21
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15.6.12 An object occupies the region inside the unit sphere at the origin, and has
density equal to the distance from the z-axis. Find the mass
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15.6.14 An object occupies the region between the unit sphere at the origin and a
sphere of radius 2 with center at the origin, and has density equal to the distance from the
origin. Find the mass.
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15.6.15 An object occupies the region in the bounded by the cones ¢ = 7 /4

and ¢ = arctan 2, and the sphere p = v/6, and has density proportional to the distance
from the origin. Find the mass.
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